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1 2 1241 10 100.0 10 - - 12.80 24
2 3 137.0 1.0 100.0 1.0 - - 12.80 24
3 4 148.2 10 100.0 10 - - 12.91 24
4 5 156.4 1.0 100.0 1.0 - - 13.09 24
5 6 156.4 10 100.0 10 - - 13.83 2.6
6 7 150.8 1.0 100.0 1.0 - - 13.83 2.6
7 8 150.8 10 100.0 10 - - 13.81 2.6
8 9 163.3 1.0 100.0 1.0 - - 16.30 3.0
9 10 163.3 10 100.0 10 - - 16.30 3.0
10 11 160.6 1.0 100.0 1.0 - - 15.97 3.0
11 12 160.4 10 100.0 10 - - 15.24 2.8
12 13 158.3 1.0 100.0 1.0 - - 1352 25
13 14 158.7 10 100.0 10 - - 15.78 2.9
14 15 166.8 1.0 100.0 1.0 - - 16.05 3.0
15 16 166.8 10 100.0 10 18.61 35 16.05 3.0
16 17 171.0 1.0 100.0 1.0 18.61 35 16.05 3.0
17 18 171.6 10 100.0 10 17.80 3.3 16.05 3.0
18 19 171.6 1.0 100.0 1.0 18.03 34 16.05 3.0
19 20 1715 10 100.0 10 - - 16.05 3.0
20 21 160.9 1.0 100.0 1.0 - - 15.56 29
21 22 161.9 10 100.0 10 - - 15.68 2.9
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